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SQLUTION OF SFMT 43 BY REASON OF TEGIINICAL DEFECTS (F THE. MACHINE.

1)  Encoding wibh UFHD 43 io ofiochod by the superp agition of o Kay
perforated sirip on the clear pusforatcd strip, which results in a pure
addition of cloar and key irpulses in acccrdance with the following principles
Equal curron® conditions in tho clear = and key sign give a + irpulse in
the encdded sign and unegqual conditions give a - impulse,
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This comvesponds to tho schemo; (See Pige 9 in appendix, )
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v 2) Each kc‘y‘ I;ex:t;oratod, strdip is only ured once, so that the solution of
an encoded text dis thns theorstically impoasiltls, The key porforated
strip is automatioally destroyed aftsr it has pasied through the machine, ./

3) .Defuchs of the machine s vhich schonmatically have exaetly the sams
result as a phaso- shift in the superposition of cloor and key signg, are -
key releys, which work too slowly, Eog The phaso shift from koy sign to "
cloar sicn is 304, (This is naturally less in prectice,)

An oscillogranm of encoded texts showed thurefors shortenod and lengthensd
irpulses, In oxder to rerove this defect 1t wag -dumendsd that every
SFMIL3 bo coupled with a so-callod iolaprinter "Intzerrer' which synchron=

- dssd the encodud impulses, It camot bs stated with certainy whethexr

' everywhere, whore SFMIL3 was used, the teloprinter MEntzerrer" was actually

omployed,  Slemens made uvery cffort to remove the sources of technical
defects by changing the  construction of SFMIL3, New perfect machines
howevor never came into action, ‘ -

, k) Onc and only one solution of an encoded toxt with non-gynchronised
impulses by making use of an oscillogram is possibles, In exarple fig, 10
(see appendix) the first gep in the current ]é)a)‘ in the encoded sign nust
resuly from a + jlupulse in the key sign, Sinco the first encoded impulse
and the first key impulse ars both + then tho Pirst olear inpulse must be
+o In addition the second key impulse must bo + for otherwice the first
encoded sign would have been shorbened, Sinco the seoond encoded . impulse

, is ~ then the second clear irpulse must Lo =, Since further the second
encoded impulse is shortencd the third key irpulse must be =, In this
way further conclusions can be arrived at and one and only one solution
P cloar and key signs be found, v









